75. Indicators of economic growth
1. Fill in the gaps.

Economic growth is the rate at which output and spending rises over time.  The usual measurement is the annual percentage change in the GDP (Gross D_________________________ Product) in real terms, i.e. adjusted for ________________________.  The underlying growth rate in GDP is largely dependent upon improvements in _______________________ (efficiency). This, in turn, is a function of education and skills. In less developed economies, the ability to read and write (______________________) is the key measurement of education and forms part of the _____________________ Development Index (HDI). Another important component of the HDI is the health of the population.
Missing words include: health, literacy, human, production, domestic, inflation, productivity

2.  Data analysis  (all these figures are from CIA World Factbook December 2015)
	Country
	Norway
	UK
	China
	India
	Cuba
	S. Africa
	Botswana
	Niger

	Male illiteracy
	0%
	0%
	1.8%
	18.7%
	0.1%
	4.5%
	12%
	72.7%

	Female illiteracy
	0%
	0%
	5.5%
	39.4%
	0.2%
	6.9%
	11.1%
	89.0%

	Total illiteracy 
	0%
	0%
	3.6%
	28.8%
	0.15%
	5.7%
	11.5%
	80.9%

	Infant mortality

(per 1000 babies)
	2.5
	4.4
	12.4
	41.8
	4.6
	33.0
	8.9
	84.6


2. True or False? 

2.1 The infant mortality figures for South Africa and Botswana suggest that the latter has a successful health policy 
2.2 Even though India is growing, the infant mortality data undermines the country’s claim to be developed.  
2.3 The data shows the long-term weaknesses of Cuba’s communist rule
2.4 The position of Niger justifies Britain’s investment of 0.7% of GDP towards overseas aid.
2.5 Explain how India’s economic growth could benefit from actions to improve its education system 

______________________________________________________________________________________

______________________________________________________________________________________

3. Data Analysis                                   Source: adapted from http://hdr.undp.org/en/media/HDR_2009_EN_Indicators.pdf
	Country
	Norway
	Australia
	UK
	Qatar
	Cuba
	Brazil
	Botswana
	Niger

	HDI Score
	0.944
	0.935
	0.907
	0.850
	0.769
	0.755
	0.698
	0.348

	HDI Rank
	1
	2
	14
	32
	67
	75
	106
	188

	GDP per capita, $
	64,992
	42,261
	39,267
	123,124
	7,301
	15,175
	16,646
	908

	GDP per cap. rank
	6
	19
	23
	1
	114
	74
	65
	183


3.1 Outline two factors that comprise the assessment of a country’s Human Development Index (HDI)

______________________________________________________________________________________

______________________________________________________________________________________

3.2 Examine the data above. Do you think that, based on the information provided, GDP per capita figures are a good indicator of development in an economy? Justify your answer.
______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________
75. ANSWERS: Indicators of economic growth
1. Gross Domestic Product … productivity

2.1 True

2.2 True

2.3 False

2.4 True
2.5 Explain how India’s economic growth could benefit from actions to improve its education system 

· Illiteracy is a huge constraint on growth. The illiterate can’t easily be employed in a factory, office or shop – where reading instructions is a necessary part of the working day. 

· So for the economy to develop beyond farming, literacy is vital

3.1 Outline two factors that comprise the assessment of a country’s Human Development Index (HDI)

· Education, measured in part by literacy/illiteracy (also measured by take-up and duration of secondary schooling)

· Health, as measured by infant mortality but also life expectancy

3.2 Examine the data above. Do you think that, based on the information provided, GDP per capita figures are a good indicator of development in an economy? Justify your answer.
· Yes, I think I do. There seems to be a broad correlation between HDI and GDP, even though there are massive exceptions such as Cuba and Botswana. Cuba out-performs on HDI given its poor GDP per capita, whereas Botswana should be doing far better on HDI given its income level
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